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5 (a) The lengths of two sides of a right-angled
triangle are shown in the diagram.
(i) Copy the diagram into your answer book

and on it mark the angle A such that tan A=2. 8
(if) Find the area of the triangle. E
5
C
(b) In the triangle abc,
|ab| = 18.4, |bc| = 14 and | Zcab| = 44°.
(i) Find |£bcal, correct to the nearest degree. 14
(if) Find the area of the triangle abc, correct to
the nearest whole number. 44
a 18.4
(c) The lengths of the sides of the triangle pgr are A
lpg| =20, |gr| =14 and |pr| = 12. > 14
(i) Find |4rpq|, correct to one decimal place.
(i) Find |rt|, where rt L pg. Give your L0
answer correct to the nearest whole number.
ANSWERS
5 (&) (ii) 20 units?
(b) (i) 66° (i) 121 units?
(c) (i) 435° (ii) 8 units




